AST6AE8 H 21 H

(7K)

MR —E

BT B R T TR T A SR A R
Bk g = o 2 AL %E
BFIGEE AL 2 — .
1| 13:00 [Rivkisiit: o PERAIEES gk T 737,000/
%
) SR H R b 2 —i5 .- H  JLERZERR)
2| 13:00 | m b o e FOKIERR BB 5,379,000
31 13:00 g%gg AT AR A S E AT iR GSE VA RS 1,430,000
TNGIEE Bt b 11 [ E T [ ]
4 13:00 Kﬁ??llééyﬁﬁﬁ — RO | B [ R IRAREE R Z5 ik (FK) 3,245,000
[ERiEPN
TG L R | e |[TA—TAT LT
5| 13:00 (Bt i |5 Ly g e 3,278,000/
[EAEN ol IE
6| 13:00 g%gﬁﬁmﬁﬁm(%ﬁ BRETAR (BR) #r =v ks 2,449,000
7 13:00 %?6@&? /J‘D?%j(iﬁf‘—&“— J:7K5E§% §§§+ﬁ($ﬁi)q} 4,474,888IIJ
gl 13:00 @56@5 TOBACEA=2—| Lo ST ) 1,288,320
9 13:00 %?6@&? j(l]?%j(iﬁf‘—&“— J:7K5E§% §§§+ﬁ($ﬁi)q} 1,648,9OOIIJ
10 13:00 %%DE‘)EE %%F?/y (4‘[7@@ @%ﬁ% (H%) 5%:&“—5“— 19,949,000Fq

4x4) BN

A




AL REH 1

Zit&E 3-8
G2
ST6EE FRFUE L ¥ —I8 HAKLBE M RIE M R AT LR
it 1T 25 AT R EEETERN HN
a4 @ H SF6EETH31H (k)
BH AL A B SF6FE8 H 21 H (k) 130004y
BA AL 3% At BT PTR T A2 A AR AT 310 H3
YN REEE MBI R AR B iR BRI 2 —
. SARTZEMWE PEALBABLIA) 737,000
# LA PRI R MEET 670,00071
R | R AR 1251 " sepiEs 67,0001
" it T EAMIRS (Bidk) 692,000/
FEMIR [SMT4ELH3LH ~ ’
W = TR IR AR 15K
(Bt 58
N A L 4 o m
CEEE =D E ARG o2 [ ™
1B AR TEEWRER) 780,000
2B AR T2ERR) 670,000 PE
38T RAL S T 2E(RR) 695,000
4| B/ ALFEFEERRD) I B F AT 720,000




ALEREHR 2
Ltk 61—8
G2 .
BROEEH ARG b ¥ — 15 RAEBIE M R TR
it 1T 25 AT BT EE HIN
a4 @ H SF64ETH 31 A (k)
BH AL A B SFN6ES H 21 H (k) 130004y
BE AL 5 A B R TR A A R A R AT 310 H3
YN REEE MBI R AR B iR TAKERR
. B/ ILEEERRH- B EEHT HALEABLA) 5,379,000
L& P ER MEET 1,890,000
R | FRAHEA491-1 " sepiEs 489,000/
" =it T EAmEE (Bitk) 5,210,000
FemiE | BAsEE B OB A 560 A - S
W o JE VR ALERRR D VENE PR AT A 375
AEVERBALIAT
(Bt 58
N A 4 # _—
CEEE =D %1 [ % 2 [ ™
LS PK TR 5,200,000
215K T2k 4,950,000
3HT AL 2GR 4,950,000
4| B 7 ALFEFEERRD) I B FHET 4,890,000 WRTE




AL REH 3

EitEs 13—5
4 .
FREE HMHLARBAEEEE
it 1T % BT AT SR-en N
a4 @ H SF64ETH 31 A (k)
BH AL A B SFN6ES H 21 H (k) 130004y
B #L &5 At BT AT R T SR A R R R.310% #13
AFLFE S 5 MBI R AR T JE PR
o ) E#INTY—> PEALBABLIA) 1,430,000
AL #H g %) 1§ MEET 1,300,000/
G | EpETEE172—3 e 130,000/
fE B =it
. . T EAMIRS (Bidk) 1,320,000
ZRtM KRS A OZ A 51200
B B R BT 8 K OMEER
(Bt 58
A fL F A L 4 o m
(fR4EE) o1 [ o2 [ ™
1) /e 1,400,000
2| (BR) N7 —2 1,300,000 e
3|FLAP (k) 1,690,000




ALEREHR 4
" 4 U, s
SFOEE FAMERBERRS) IR —BXRBEEEEA
i AT % Bt R TE2406 52T
a4 @5 B SF6ETH3LA (k)
BH AL B B SFN64E8 H21 A () 1385004
Bfl AL ¥ B R AR TR T & A
AFLFE 3R SR R AT A proE i R B = AR
. IRAREFREZ (BR) PEALFEBLA) 3,245,000
wAL nrme A W MEEE 2,950,000/
(T | R f 163 —4 e migass 295,00011
Rl W)
T EAMIRS (Bidk) 4,296,000
oo BRFERE R O ANB90H
B — X E
(Bit 58
A L #F A FL & #H o m
(¥4 %% # 1 [al w2 [ ™
1 |FRAEE B2k (F) 2,950,000 e
2| (BR) [l | L= A2 2 — - AR
3| () v A FAF A HL 3,300,000
F4—T AT LT Lo () B
41 e 3,050,000




ALEREHR 5
7 4 N .
ST6EE IR TEREERARMARZETNT —BRXRIREEEEA
it 1T % BT FrA AR T 3946 R E AR R ARG IR T
a4 @M A SF64ETH 31 A (k)
BH AL A B SFN6ES H 21 H (k) 130004y
B #L &5 At BT TR T SR AR
AFLFH SRR BRI R AR Gl TG 7 S MR B AR
2% FA4—T AT VT Loy (BR) B L X E WALEABLIA) 3,278,000
T ’
XIERE &K ER . Bl ok # 2,980,000
BT L0765 —1 e 298,000[1]
fE B Yy X
— T EAmEE (Bitk) 4,296,000/
W BHIFERE B OZ A B90H
W B — X EE —X
(Bt 58
A fL F AL 4 o m
(fR4EE) o1 [ o2 [ ™
1| R ERL 2R () 3,050,000
2| (BR) [ | = Ao 2 — - LFS
VA VAT AT 4TV 3,300,000
4| TAZTATNT VY OR) 2,980,000 e
ESlipaS O




ALK RE#H 6
7 4
ST6EE FRTAHE(BREBE) EA
it 1T % BT HAHIER HiN
a4 @M A SF64ETH 31 A (k)
BRFL B BE | SF64E8H 21 H ) 131005y
B #L &5 At BT TR T SR AR
AFLFE S R FHS TR FR A R Ar B i R
- (BR) BrA.= b WALEABLIA) 2,449,000
T "
' &Mk EHE - Bl ok # -
B | FRAHER1137 i -
fE B Yyt .
TEAMIRS (BiiA) 2,610,000
oM AT64E12H20H
o =7 I=F%x¥7EV(23 —%—)
(BiiA%A)
A fL#F A L & o m
(fR4EE) o1 [ w2 | ™
1| HEA— Y —E 21T 2,690,000
2|(F)—% 2,676,000
3|(A) A —bhxz A 2,680,000
4B A —kEEas A4 2,600,000
57T A (KE) 2,653,000
6 ()t —r—2 2,700,000
7I(BR) BYE—H—A 2,680,000
SEKES (B) 2,518,000
9| (BR) AT —H—A 2,620,000
10 (f VI VI AR T —H— _ -~
11| (F) FH=A—h 2,700,000
12| (BR) #Hr l=v ks 2,449,000 g
13| (/) e rv— 2,690,000
14|t B B EAEEL T35 () 2,710,000
15| (BR) dbbEma 2,773,714
16|A%7S B B () 2,688,000
17| (BR) H¥EE T 2,813,904




A AL G R 1R 7

4
SFGEE /IARKEA—F—EA
e 1T % BT RT3 M2 5 AL FKE AR
Fe4 8% A AM6ETH31H (k)
BH AL A B SFN64E8 H 21 H (k) 13850045
B AL 5 At BT TR T SR R A R
N T RS A R AR proE i EoKERR
. W R P E RS TEALEABLIA) 4,474,888
wALHE EE S XN sz AR Bk #AE 4,068,080
ErT JREMEREEEI-5-2 R gk 406,808
i i T EAMIRS (Bitk) 8,290,000
JE s s
wmo SRTEIH3LA
i ¢ 13, ¢ 20/KE A—2— (EHt A =R )
(Bl b %8)
A KL F A L & @A
{=] e Parany parand ﬁ‘?ﬂ: %
(4 ¥EE) %1 = %2 =
1| E R KBS 4,513,000
2 (BRp)=vay L E%)E - FER
3 =HET3EWER) 5,028,460
4| AR P E XS 4,068,080 PRTE
5 (B)#Hn 4,351,000




ALK RER 8
" 4
ST6EE P ORKEA—FZ—EA
AN AT FRTEEIEM2 F AT FAKER
a4 @5 B SF6FETH31H (k)
BRAL A B | A6 H 21 A (k) 13850047
B kL 5 Pt B R TR T A SR R iR
YN REEE BRI R AR B iR EokiERR
- =ETEM PEALFEBLA) 1,288,320
AL fEmE e L EE MEEX 117120001
(7 B RS T 1-12-17 U i 117,120/
o [
T EAMIRS (Bidk) 2,391,400
@ W |amTEsAsA P (B
G ¢ 25, ¢ 30, ¢ 40AEA—H — (Him =)
(Bl 58)
A FL#F A FL & #H
C oo . o wOR
(B4 %E#E) w1 | w2 |
1| B InREET SRR KB S 2,106,000
2R =y LB XG - E31E
3| =T 3EGER) 1,171,200 PE
4| RPEFH RO P E S - (E31E
5/(8)#Fn 1,246,000




ALKEREHR 9

4
STOEE KOBKEA—FZ—HA
HIAG T HRT S 3E M2 H AL FAKE R
fe4 @ H SF6FETH31H
BR AL A B AFn6E8 21 H 1318004y
B AL & BT BT PR T &R A AR
NFLEE Y 3 TS B F A Ar & & kERR
RHERSEDFEXE TEALEABLIA) 1,648,900
o R
WAL A YiEE NI &z . Bi b % 1,499,000[1
FFT eV XS 3-5-2 MEE- gk 149,900
& B Yy
T EAMIRS (Bitk) 3,605,300
wmo# SFTHEIH3LH ~ ”
o= 50, ¢ 75, ¢ 1007KE A—% — (Er . = E=)
(BitsR)
A KL E A L & —
€ZE=D % 1 [al w2 [ ™
1| RSB RR) KBS 1,129,600
2[R =var KB X5 - FER
3 =HETHEER) 2,154,720
4| B R () Hh [ SO 1,499,000 e
5|(B)A%Fn 1,790,000




AR RER 10
4
BRIGEE BRENT v (4tk, 4x4) BA
fii 4T % B BT 310 —3 B AL i pr itk ik
a4 e H AT H31H K)
BH AL B I A8 H 21 H k) 135005y
BA AL % P A TR R T A A AR BT 3107 13
NFLFE YR MBS R I A R Ar & iR R R
() Bfe—F—= HALFEBLA) 19,949,000
VKL o R MR s P BEEE -
EpT BRI AE248—1 e EE ik isE -
(T N
P pe—— TEAMRE (Fiid) 21,400,000
WM = BRENT v (4, 4x4)
(BiaA%H)
A L EH AL & #
CEEE= %1 [al % 2 [ R
1 A4 — Y —E 2L 20,200,000
2|(A)A— ka4 21,000,000
3T T A (k) 21,000,000
4 BaHE—F—X - 53R
5| (KK B EE—2—2 19,949,000 N
REENEENCSD) 21,530,000
7| () EAE—F—2 21,000,000
8| (#R) #r L= /1h 21,000,000
9| (B) HH v — 22,500,000
10| (BK) AEihps = 20,797,980
IBRFSANEE I ENCS) 20,268,000
12| () &HFET 21,081,380




